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JEfz K % NET HDCP  TOTAL ouT IN OUT NET Bz K £ NET HDCP  TOTAL ouUT IN QUT NET

B B HEEE 70 -1 69 ( 35 34 ) 355 (I — R T 72 14 86 ( 44 42 ) 370
261 R FE 71 21 92 ( 46 46 ) 355 26 I F=E 73 10 83 ( 42 41 ) 37.0
3L WL B 73 18 91 ( 50 41 ) 41.0 M =N EH 74 11 85 (43 42 ) 375
4hr N HE 74 24 98 ( 50 48 ) 38.0 A HHF BE 74 20 94 ( 48 46 ) 38.0
56 UM BB\ 75 5 80 (40 40 ) 375 bt HEE= 74 11 85 (45 40 ) 3956
6 BN EE 76 21 97 ( 50 47 ) 395 6 JIA B 75 30 105 (b1 54 ) 36.0
Thr  HF E#R 76 8 84 ( 44 40 ) 40.0 761 #LE FH 75 26 101 (49 52 ) 36.0
86 AT R 77 23 100 (b1 49 ) 395 8hI XRBIEE 75 25 100 (50 50 ) 375
oL =B =i 77 18 95 ( 52 43 ) 430 Mr =ER BEHE 76 9 85 (39 46 ) 345
108 EBF 7] 78 3 81 (. # 40 ) 396 106 5 K 76 21 97 (47 50 ) 36.5
1M EW =i 78 28 106 ( b4 52 ) 40.0 146 F8E &3 76 11 87 ( 43 44 ) 375
1261 FEE F5 78 16 94 ( 48 46 ) 40.0 1261 )il & 76 13 89 ( 44 45 ) 375
136 BAR #kth 78 10 88 ( 46 42 ) 410 1361 Ll & 76 20 96 (48 48 ) 380
1461 MR & 78 0 78 ( 43 35 ) 43.0 1461 ik 552 77 22 99 (50 49 ) 39.0
1562 EF 79 8 87 (42 45 ) 38.0 156 Wk E% 77 9 86 (44 42 ) 39.6
206 HE 80 27 107 ( b6 51 ) 425 206 ERE 78 15 93 ( 47 46 ) 3956
251 fFEIM FE= 81 22 103 (50 53 ) 390 251  EE E— 79 16 95 ( 50 45 ) 420
30 EE AT 82 10 92 ( 46 46 ) 41.0 3067 D E 80 21 101 ( 58 43 ) 475
350 MEE B 83 12 95 (49 46 ) 430 35 JKH EE 81 19 100 (52 48 ) 425
4061 RH B 84 16 100 (50 50 ) 42.0 4061 EEB B 82 22 104 (51 53 ) 400
450y  HHE F—H 85 8 93 (48 45 ) 440 4561 U BE 82 15 97 ( 52 45 ) 445
506 mME b 85 30 115 (61 54 ) 46.0 50 BEH 83 12 95 ( 47 48 ) 410
60  BR #At 89 30 119 (b5 64 ) 40.0 60 %%k R 85 10 95 ( 45 50 ) 400
700 HE #E 87 11 98 (50 48 ) 445
804  MiH EF 89 20 109 (59 50 ) 49.0
BBE o7 89 13 102 (48 54 ) 415 BBE +/&E EE 95 11 106 (54 52 ) 485
BGE i#M ET 69 ( 35 34 ) Par 72 I—XL—+  RE—TL—b

BiE(EF) 6606 vyard 71.3 128

BE(H) 6,237  yard 69.5 123

BiE(£) 5892 vyard 68.1 119

BiE(%) 5281  yard 64.9 114

(%) 5281  yard 70.1 123

M (FR) 4878  yard 67.8 119




